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ECONOMICS - I — GENERAL
Fourth Paper
(C-14-G)

Full Marks — 100

Candidates are required to give their answers in their own words as far as practicable
[FOR ALL OTHER CATEGORIES OF STUDENTQ
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The figures in the margin indicate full marks
Module -1
Group - A

1. Answer the following questions :
(a) Indicate any two characteristics of Business Economics.
Or
What is ‘Production Possibility Frontier (PPF)’ ?
(b) Indicate any two factors on which elasticity of demand depends.
Or
What is the relationship between two goods if the cross-price
elasticity of demand is (i) positive and (ii) negative ?
(c) What is meant by Utility ?
Or
What is an inferior goods ? Do all inferior goods obey the law of
demand ?
(d) State the ‘Law of Variable Proportions’ ?
(e) Explain the concept of variable cost with example,

Group - B

2. Answer the following questions :
(a) What will be the corresponding shapes of the supply curve when
the value of elasticity of supply will be (i) infinity and (ii) zero, respectively ?
Or
What is equilibrium price ? How will the equilibrium price change
when there is a rise in demand ?
(b) Explain why two Iso-quants cannot touch or intersect each other.
Or
What do you mean by Returns to scale ?
(¢) What is average fixed cost ? What is the shape of the average
fixed cost curve ?
(d) “A firm under perfect competition may continue production even if
it incurs loss in the short-run.” Justify the statement.
(e) What is economic rent ? How can you measure it when the
transfer earnings are zero ?
Or
Define Value of Marginal Product (VMP) and Marginal Revenue
Product (MRP). Write down the relationship between VMP and MRP when
perfect competition prevails in both the labour market and output market.
(f) Distinguish between (i) Nominal interest rate and real interest rate
and (ii) Normal profit and Super-normal profit.

Group-C
3. Answer the following questions :
(2) Explain, with the help of indifference curve, how a two-commodity

consumer attains equilibrium.
(b) Can a perfectly competitive firm earn supernormal profit .in the

long-run ? Explain.
Or
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(i) Determine the relationship between average revenue, marginal
revenue and price-elasticity of demand of a firm. (ii) A monopolist always

produces in the ‘elastic segment of his demand curve’. — Explain. 4+4
Module - 2
Group - A
4. Answer the following questions : 2x5
(a) What is the problem of double counting in the context of national
income accounting ? .
Or

What is meant by circular flow of income ?
(b) Distinguish between gross domestic product and gross national
product.
Or
Distinguish between real gross national product and nominal gross
national product.
(¢) What do you mean by ‘depreciation of capital’ in national income
analysis ?
Or
Define per-capita income.
(d) What is meant by structural changes in the Indian economy ?
(¢) What do you mean by Secondary Sector of an economy ?

Group-B
5. Answer the following questions :
(a) Distinguish between economic growth and economic development. 5
(b) What is poverty line ? Mention three causes of growing incidence
of poverty in India. 243
Or
Mention the major reasons behind the problem of unemployment
in India. <]
(c¢) What is inflation ? What is the impact of inflation on different
income groups in the Indian economy ? 1+4
Or
What is black-money ? Write down the causes of emergence of
black money in India. 2+3
(d) What are the causes of rural indebtedness in India ? Mention any
two institutional sources of rural credit in India. 3+2
Group-C
6. Answer the following questions : :
(a) Explain the causes of low productivity in Indian agriculture. 10
Or

What is industrial sickness ? What are the causes of this problem
in the Indian economy ? Write down briefly the means of its eradication. 2+4+4
(b) What is economic planning ? State the basic objectives of

economic planning in India. 2+8
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